Sindhi High School
Half Yearly Examination (2024-25)
Subject — English Langnage& Literature

Class: VIIl Marks: 80
Date: 03/10/2024 Reading Time: 8:40 To 8:15 Am
Number Of Printed Sides :9 Writing Time: 8:45To 11:15 Ar

General Instructions:
I. This Paper Consists Of Three Sections.
Section-Reading-20Marks
Section B Writing &Grammar - 20 Marks
Section C Literature - 40 Marks
2. Attempt All Questions Adhering To The Word Limit.

READ THE GIVEN PASSAGE AND ANSWER THE QUESTIONS THAT FOLLOW: (10)

1. It was the city’s first indoor play park of its kind. Like a good mother, I was sceptical of virtually every aspect of
it. How could it succeed? Why should it succeed? How would a set of contraptions in a room hold the attention of
today’s children? Don’t call me paranoid: I stood with dozens of mothers in similar states of quandary while the
cheerful staff whisked away the curious kids for an hour. “I thought she blew the whistle after 15 minutes,” huffed
the pre-teen when she returned.

2. The manager came up to me. “I told you, the child would have a blast,” she laughed. And explained, “There are
hardly any parks in our cities.” She meant, hardly anywhere children can be themselves and like a Maria in “The
Sound of Music’, where they could climb a tree, scrap their knees and tear their dresses. Most of the recreation now
is limited to electronic activity and given half a chance, children would jump for something more physically
explorative. Even if it is simple stuff like climbing, whizzing down and jumping on a trampoline.

3. Latest research shows that computer games slow down brain development. The ‘in’ thing till yesterday, they are
‘out’ today. Says Nandita Sharma, parent of a well-adjusted teenager, “Any mother can tell that standing at 2

¢, onsole juggling a joy-stick isn’t conducive to physical relaxation. I rationed Karan’s hours at the video games and
made sure he spent evenings with his friends in the little space outside the house.” Nandita was also afraid that the
bright lights of computer games could hurt young eyes. Nor did she like the topic most of the games are based on.
“There’s just too much violence and fast activity. [ know my kid can’t lag behind in today’s world and computer
games certainly sharpen reflexes, but I wish the games would be more interactive and socially inclusive.”

4. Indeed, apart from making a zombic out of the child, research indicates that computer games only stimula
activity in the parts of the brain associated with vision and movement. It can also lead the child to be more violer
The lack of mental calisthenics(exercise) curbs their agility in controlling their response to an unsavoury situatio
Moreover, most electronic games isolate the child from the group fun of playing outdoors. Playing with peers ar
taking a toss or two appreciably strengthens the child’s tolerance of others. This behaviour is governed by the front
lobe, which continues to develop in humans till about 20 years. The more this lobe is exercised during moments
restraint, the more the fibres connecting the neurons in this part of the brain thicken, improving the individual
control of reactions. Playing electronic games, research shows does not encourage the development of this lqbe.-
So now parents know what to do. After school and home assignment hours, the best thing they could do for their k

is invite his/her friends home and roll the carpet away!



Answer lhqﬁ_)llggyingqu_cs_lipns. bascd_ on the passage above. s
(i) The author was paranoid about the indoor play park becatise _ _
(a) she felt that the children may not like it

(b) it would not engage the childr.cn o
(c) it could never provide the feeling of playing in a real park

(d) she was worsied about her child

(ii) The writer would not agree with the given statements, based on paragraph 4, EXCEPT. (1)
(a) Computer games make a child more violent.
(b) A child becomes a zombie if he/she plays computer gafncs. A
(¢) Computer games aid a child’s agility in controlling their response t.o an unsavoury situation.
(d) Computer games stimulate activity in the brain associated with vision and movement.
(iii) Complete the sentence appropriately by choosing the corregt option. (1)
Most computer games isolate a child from the group fun of playing outdoor games.
As a result, the child becomes i
(a)most tolerant of others -
(b)is happy and enjoying
(c)has lot of patience
(dyvery friendly with others
(iv) Select the option that conveys the synonym of ‘doubtful’ from words used in paragraph (1)
(a) Quandary
(b) Aspect
(c) Paranoid
(d) Sceptical
(v) In the line, “...behaviour is governed by the frontal lobe ....... » describe the role of
the frontal lobe as explained in the passage. (D
(vi) List two reasons why parents prefer outdoor physical activity for their children in
comparison to video games. Answer in about 40 words. ‘ ()
, ‘ )
(vii) The given passage states that the ‘indoor play park’ was a hit. Based on your
understanding, state the reason for this success. 2)
(viii) Select the most suitable title for the above passage. , (1)
(@) The Indoor Park s

(b) The Side Effects of Computer Games
(c) Say yes to Overindulgence in Gadgets
(d) The Play Park

I Based on your understanding of the passage, answer the questions given below: (10)
1. Even international students whose first language is English can find themselves
struggling to understand an alien academic culture. The problems are very familiar.
Stud‘eqts’ first problem is often with listening skills. They may feel nervous about this

and it is certainly a steep learning curve. They need a structured listening experience, for
instance how to pick out the main ideas. They also need help with academic reading —

2



ills grows, it is in the area of academic writing where more

serious cultural differences become apparent, Much of British education i based on essay writing, but this may be a
demanding task for students from other cultures Suildenty, they are faced with the need to express their own idcaﬁl.
develop their opinions and evaluate different jesues, all in polished English. For some, the concept of originating this
kind of written discourse can prove problematic and they may find themaselves scoring low marks because of
one clse's idens. In Britain, plagiatiem is regarded ae academic theft, though this is
arch in a library before tackling an assignment

2. However, while a student’s confidence in listening ek

plagiarism or reproducing some
not always the cage other countries. Stdents are expected 1o oy rese

and simply regurgitating (repent) lecture notes 1§ nlso not ncceptable

3. The best way to overcome these hurdles is to be pr epnred. The first step is to take a test to addess the English
skills needed to cope with the isrues of nendemic culture, [f an aceredited test indicates that a student’s
1s are not sufficient to embark on a university degree, the next step ia to consider pre-gessional courses,
student will take n degree. These can last from three weeks to an academic

language
language skil
generally at the university where the
year, so it is wise for students to be realistic about their needs.

4.1t is generally accepted that approximately 200 hours of study are needed to improve on one bad score on some
. Some of the ‘new’ universitics that formed from polytechnics in 1992 are experimenting with new styles of
pre-sessional and foundation courses. Elspeth Jones, Director of the Centre for Language Study at Leeds
Metropolitan University explains, “Our courses arc monthly and so students from parts of the world with a different
academic year can enrol at any time." She feels that language training in new universities is generally more flexible
than in older institutions. “Universities like ours can take studznts with lower language test grades and can put them
through a programme "that will bring them up to the required standard, though we cannot guarantee how long it will

take.”

(i) Select the option that depicts what the writer projects, with reference to the following:(1)
Much of British cducation is based on essay writing, but this may be a demanding, task for students from other
cultures. :
(a) Concern
(b) Anguish
(c) Warning
(d) Exhilaration

™) Why is an essay writing a demanding task? 2)

(iii) Complete the following with a phrase from Paragraph 1. | (1)

Even international students whose first language is English can find them struggling

(iv) The passage includes some words that are opposites of each other. From the sets

(a) - (e) below, identify a set of antonym. % (D
(a) Assess and evaluate

(b) Nervous and confidence

(c) Approach and skim

(d) Discourse and lecture

(e) Hurdle and embark

(v) Complete the sentence appropriately.
British education is primarily based on (M



(vi) What pcoording to the mithor cAnses international students to score low narkse?
(2)

State any one reason.
(vi1) Choose the pption that incoet iy states the meaning of ‘accredited’ as wsed in the pasaage. (1)
1. To credit

2. To thank

3. Officially recogmsed of authorised

4. To give hcense

S. Of quality

6. To give an appointment

Codes

(a) 1 and 2

(h)3and 4

(¢)Sand 6

(d)3and 6

(vii1) Based on your reading of the text, list any I benefit of pre-sessional courses. (1) i

SECTION B-Writing Skills and Grammar (20M)

ing permission to organize a cultural event in your school. (word limit-

Answer any ONE from the given :
I11 a) Write a letter to your principal request
3

100-120 words)

OR
spaper expressing your concerns about environmental pollution in your city
t. (word limit-100-120 words)

blem with their children. They waste most of their time on Facebook and
ivities are neglected. Write an

[t that their studies and other important acti
gest a suitable title: (100-150 words)

b) Write a letter to the editor of a new
and possible suggestions to overcome i

IV a) Parents today are facing a major pro
other social networking sites, with the resu
article on this issue taking ideas from the hints given below. Sug
Teenagers waste time

e Parents fear of the danger involved
s students with academic work,
/\

« Pros include fast spread of information, source of news, solves crimes, help

improves relationships.
ts waste time, leads to stress, misunderstandings and

e Cons include spread of false information, studen
centred personalities. Leads to loneliness and depression.

arguments. Children develop self-
OR (&)
b) Looking at the increasing obesity among school children write an article on the topic Increasing
Obesity in Children by taking help from the hints given below. (100-150 words)
little physical

problem of being overweight in common in children.
dren, watch telcvision, wastc time on social nctworking sites, very

o sedentary lifestyle of chil

exercise.
eat junk food and drink acrated drinks instead of a balanced dict.

should be encouraged to do more physical excrcises




V) Complete ANY TEN of twelve of the following tasks, as ditected, (Tx 11t

(1) Fill in the hlank by neing the eorrect form of the ward in the hracket, for the given partion of the

letter. (h

Subject : Complaint about a damaged nroduct received
Sir/Ma'am,
I purchased a black top from your online store. 1 _ (teceive) the product today, and [ tried filing  refurn

request as the size 1s smaller than the one 1 had ordered and the cloth is torn on the left side

(i) Read the given sentence from an article. Identify the error and supply the correction in the
(1)

sentence.
As we advance into the future, landmarks are sometimes unceremoniously destroyed by the tourist and the residents

for their own selfish motives.

Alse the given format for your response:

L ERROR CORRECTION |
| 'i
(i) My neighbourhood is very interesting place. My house is located  an area which has many
stores and offices. The biggest store is only five minutes’ walk from my house. [Fill in the blanks with articles and
prepositions] (1)
(iv)Draupadi was onc of the women. (beautiful) ( Use suitable degree of comparison) (1)
(v)Select the correct option to fill in the blank for the given line. (1)
You have a university degree to take part in this competition.
(need/mustn’t/needn’t)
(T:i)He returned homé a week.( among/between/after) (N
(vii) Fill in the blank by choosing the correct option. (1
students succeeded in passing than last year.
(a) Few
(b) Fewer
(c) Little
(d) Much
(viii) Complete the narration of the dialogue between Gautami and Simran. (D

Gautami- Wow! Your new dress is very beautiful.
Simran- Thank you. My mother gifted it to me on my last birthday.
Gautami exclaimed cheerfully and told Simran M



i : ( )

(x1) Select the op u and Kas

The princely states of Jamm

p— ———— = o e Z")""
[OPTION ERROR CORRECTION
i
A - o Il'igpt‘t‘t‘l? friggers
i
: B states slate .
| e ——
:l(‘ [ The first first
5 [Pakisan | The Pakistan

Wl basketball quite well, but I haven’t had time to practice it since I came to Mumbai. (1)
(a) will play

(b) play

(c) am playing

(d) have played

(xi) Complete the line from a song, by filling the blank with the correct option. (1)
When you are feeling down
And all you muster up is a frown
That is the time to stop
And count your blessings until you drop.
(a) can
(b) would
(c) shall
(d) must

(xi1) It must be appropriately presented. (rewrite the following using noun form of the word un&er[ined) (1)

underneath, a secret drawer,
(1) Who is I in the above passage?

Ell-) Darrator  b)Jim Macpherson c) Fritz d) Tommy
(i) What does “Iy’ denotc in the above lines?

?.).a desk b) a bench ¢) a roll-top desk d) a drawer
(i) What was the condition of the desk?



(iv) Where did the speaket find a sccret drawet?
(v) Choose a synonym for the phrase freedom from pain
a) discomfort b) misery ¢) irritation d) ease out

OR
1o a full circle whete Mr Contractor has dernvee

b) Here we almost come
n subject he now loves dealing with!

— taking it from a subject lhe hated 1o
i) What has M1, Contractor derived his own interpretation of?
a) Architecture b) Mathematics ¢) Qociology d) Psychology
i1) How did Mr. Contractor feel about Mathematics initially?
iii) What is the significance of the phrase “come to a full circle” in the context of the dialogue?

a) Mr. Contractor has retumed 1o his original profession
b) Mr. Contractor has changed his opinion about Mathematics
¢) Mr. Contractor has completed a project

d) Mr. Contractor has retired
iv) What does Mr. Contractor now love dealing with?

"™ What does the transformation in Mr. Contractor's view of Mathematics signify?

a) His dislike for all academic subjects

b) His journcy from hatred to appreciation
¢) His consistent love for Mathematics

d) His indifference towards Mathematics

VIIIA) Read the extract and answer any ONE of the following:
a) Go then,” says the ant, “and dance the winter away.”
Thus ending, he hastily lifted the wicket,

And out of the door turned the poor little cricket.

Folks call this a fable. I'll warrant it true:

Some crickets have four legs, and some have two.

i) What action does the ant take at the end of the stanza?
a) He gives food to the cricket

b) He lifts the wicket and turns the cricket out

c) He invites the cricket inside
/i) He ignores the cricket

ii)What does the phrase «dance the winter away” imply about the cricket’s behaviour?

a) The cricket should find a new home
b) The cricket should continue to be carefree and irresponsible

c) The cricket should work hard
d) The cricket should seek help from others

iii)What is the tone of the ant’s response to the cricket?
a) Sympathetic b) Indifferent ¢) Mocking  d) Encouraging

iv)What moral lesson can be derived from the ant’s refusal to help the cricket?

v) The figure of speech used in the line
a) Simile b) Personification ¢) Metaphor d) Hyperbole

OR

| his own interpretation of Mathematics

. “some crickets have four legs, and some have two™ is



was difficult 1o understand

VITIB) Bul il
arth found

that the men on the © .
cpuses to hate each other, 10 Build

J& peross cities and to kill.

wal
ght. it was nol clear why?

From that hei
oem is Geography Lesson by

b) A fable  ©) Zulfikar Ali d)y William Wordsworth

iYThe name of the p

a) Zulfikar Ghose
i) What does the poet find difficult to understand from a higher perspective?

a) The beauty of the earth
b) The causes of human conflicts
¢) The structure of citics

d) The movement of rivers
i) Which figure of speech is used in the Line “From that height, it was not clear why”?
d) Irony

a) Simile b) Metaphor  ¢€) Personification

iv)What does the poct mean by “walls across cities”?

v) What is the main theme of the poem “Geography Lesson™?

IX)Answer any FOUR of the following in 50-60 words: ‘ (4x3=12)
dhary and Parimal Ghose in the story

ions drive the piot forward?

e characters of Bepin Chou “Bepin Choudhury’s

i) Compare and contrast th
do their personalities and act

Lapse of Memory.” How
ii) How does the story “The Best Christmas Present in the world “explore the theme of hope amidst despair in

the lesson?

wledge and quick thinking during the 2004 Indian Ocean tsunami are remarkable examples

iii) Tilly Smith’s kno
Explain.

of how education and awareness can save lives.

N

iv) What is the central idea of the poem “The Last Bargain™?

v) What are the various factors that led to the rise of the Indian independence movement as depicted in “Glimpses

of the Past?

?(lAnswer any TWO of the following in 50-60 words: (2x3=6)

i) In Rudyard Kipling’s story “How the Camel Got His Hump.” How does the camel’s behavior lead to his
transformation, and what lesson does the story convey about work and responsibility?

ii) Describe the importance of empathy anc compassion as depicted in the story “Children at Work.” How do these

ER

values influence the characters and their actions? 3
1

iii) What does the story of “The Selfish Giant” convey?



XI) Answer any ONE of the following in 100-120 words: (1x6=6M)
er who participated in the Christmas Day truce. Write a diary entry describing

A) Imagine you are 8 German soldi
your experiences and emotions on that day.
OR

B) Imagine yourself to be Chunnilal. Pen down your feelings, reflecting on the prank you played on Bepin Babu.
6=6M)

XII) Answer any ONE of the given guestions in 100-120 words: (1x
Hafeez Contractor’s unconventional approach to learning and problem-solving contributed to his
from Hafeez's story?

A) Analyze how
success as an architect. What do you leam
OR
resourcefulness, and what role does she

Jaya exemplify resilience and

play in

B)In ““Children at Work.” How does
u’s life?
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SINDHI HIGH SCHOOL, BENGALURU

s Half Yearly Examination 2024-25
Subject: Mathematics
Class: 8 Max Marks: 80
Date: 23-09-2024 Reading Time: 8 to 8.15am
No of printed sides:6 Writing Time: 8.15 to 11,{Sam

GENERAL INSTRUCTIONS

* Write your name, roll number, class and section, date and subject clearly in your
answer script.

* This question paper contains five Sections A, B, C, D and E.

+ Section A consists of 20 MCQs of 1 mark each.

* Section B consists of 5 questions of 2 marks each.

* Section C consists of 6 questions of 3 marks each.

* Section D consists of 4 questions of 5 marks each.

* Section E consists of 3 case based integrated units of assessment questions of 4 marks
with subparts of the values of 1,2 and 1 mark each respectively.

* All questions are compulsory. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D, 3 questions in
Section E have been provided.

S1 No.

Section A | Marks

——
—

Which one of the following is the negative rational number?
-1 -8 4 -5

How many solutions are there for a linear equation with one variable? 1
a.two b. one c. three d. none

is the square of 1.9
a.19 b. 36.1 c. 361 d. 3.61

The measure of the sum of the four angles of a quadrilateral is always . 1
a. equal to 360° b. more than 360°

¢. less than 360° d. equal to 180°

The product of a rational number and its reciprocal is always
a.0 b. 1 c. rational number itself d. none of these




6.

“13f four-fifths of a number
1170w many numbet of digi

11 three angles _l;tfﬁ_qllflt1l?i;|

e —

[ value of a tational number irrespective of its sign is called its -
b. multiplicative inverse
d. reciprocal

ﬂﬁm__l;ua erica
a. additive inverse
¢. ahsolute value

76 84, then find the number.
a. 108 h. 60 ¢l d.0

1« are there in the square oot of 37217
nl b.2 ¢.J d 4

mc}iﬂ n;é ‘4_5}‘.7 1-()5“"’ and 85; iil_c_ﬁ the measure of the fourth

angleis .
a.130° b. 150° c. 100° d. 160°

A closed figure bounded by four line-segments is called .

a hexagon b, quadrilateral c. triangle d. octagon

is a parallelogram with all four sides equal.
a. square b. thombus ¢. both (a) and (b) d. none of these

12.

The range of the data is 7 and the lowest observation of the data is 14. Then the highest

observation is
a2l b. 12 c. 14 d.7

13.

The height of a bar in a bar graph shows the of the corresponding observations.
a.mean b. median c. mode d. frequency

14.

If x = 20 and y = 40, then x and y are:

a. Directly proportional b. Inversely proportional
c. Neither directly nor inversely proportional

d. Cannot be determined

15.

Data collected through a survey is called
a. grouped data b. ungrouped data
c. raw data d. all of these

16.

Ifx -2y =0, then x and y are in
a. direct proportion b. inverse proportion
c. neither direct nor inverse d. none of these

17.

If x cyand x; =5, y1 =210 and x> = 2, then the value of y; is
a. 200 b. 84 ¢. 99 d. 70

18.

— is a parallelogram with two pairs of equal adjacent sides.
a.kite b. rectangle C. square d. trapezium
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Assertion: Two quantities x and y are <aid to vary in inverse proportion, if there exists a_
relation of the type x »
= v

Reason: xix; = yyv; = k (comstant)
a. Both assertion and teason are correct and teneon it the covract explanation far

assertion.

[ b. Both assettion and reason ate cottect bint reaton ie ot the corrset sxplanation for

asserion
c. Assertion is correct but teason i false
d. Both assertion and renson are false.

Assertion: The range of the data 21, 20, 19, 18, 15, 14 and 17 i 7.

Reason: The range is the difference between the highest and the lowest value of the

' observation.

a. Both assertion and reason are correct and reason is the correct explanation for

assertion.

b. Both assertion and reason are correct but reason is not the correct explanation for
assertion.

c. Assertion is correct but reason is false.

d. Both assertion and reason are false.

i
Section B
21. . . 2
Add  -and—
OR
C Sand =
ompare —and —
2L If two supplementary angles differ by 20, then find each angle. 2
OR
The sum of a number and 8 is 45.Find the number.
(23. If 6 pipes can fill a tank in 120 minutes, then how long will 5 pipes take to fill the same 2
- tank.
24. | How many natural numbers lie between 90  and 91*? 2
25, RENT is a rectangle. Its diagonals meet at O. Find x, if OR =2x +4 and OT =3x + 1. 2
T N
)
R E

Section C
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26.

I fays will 42 women

iy e —— — = = s .' e ik ah - ol : q in
In a school. % of the students are boys. If there are 480 gitls, find the number of boy

the school.

I 18 women can embroider a sarce in 35 days, then in how many ¢
embroider the same saree?
Solve  3(1-x)42(14%) =5

OR

y+4 -1
y+2“ 3

Find the least square number which is exactly divisible by 3, 4, 6, and 8.
OR

| Find a Pythagorean triplet in which one member is 12.

A taxi charges a fare of Rs.2550 for a journey of 150 km. How much would it charge for

| a journey of 124 km?

31.

A card is drawn from a deck of 52 cards. Find the probability of getting
i A red queen.
il Getting a face card.
iii.  Getting a spade card.

Section D

32,

Solve for x
x+2 _x+1=x-3 _1
3 5 4

33.

Is 2,352 a perfect square number? If not, find the smallest multiple of 2,352 which is a
perfect square. Find the square root of the new number.

OR
Find the smallest number by which 9408 must be divided so as to get a perfect square
number. Find the square root of the square number so obtained.
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|
| TMIYRN iu n ]lll.‘_l“l |ijr!}i||| Find v snd «

|‘! J}

{)

OR
In the parallelogram ABCD, given 2BCE = 40, ZBEC = 90*. 7CFly = onye Find
| 21DC and 2ERC in the figure.

B

C

%

LhY Draw a pic chart to represent the following information:
Faculty Number of students admitted
Science 1,200
Arts 1,000
Commerce 1,100
Vocational 300
3600
Section E (case study-based questions)
6. Ram and Shyam are organising a fundraiser where they sell different types of cakes
to raise money for a charity event. They have baked and packaged several cakes for
sale: '

e

Chocolate cake: each cake weighs -i-kilograms ; |
Vanilla cake: each cake weighs % kilograms
Strawberry cake: each cake weighs %kﬂograms

Lemon cake: each cake weighs —12- kilograms
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a. Calculate the weight of § chocolate cakes in kilograms (1)
b. What is the total weight of one strawberry and one vanilla cake? (2)
OR
“ﬂuﬂislhrlnnﬂ\vﬁphtnfnnvvnni"nrnkrnndtnwIcnvwlrakc?
G, llyIunvlnnvhisihovhnvnhnccnkclwuvkwthnuihe!cnwnrcnkc? i (1)
—ﬁ Mﬁw_\;-i;l\ lrlu.\;'_éll'_[.!ﬂi\-h.‘l‘l,il{ ﬁlt‘ Slll!i;é_(1rﬂ l_’i:l-t_!lﬂhll-.l‘i.i'ilc (;ppngilc cnm.(.:r,q inmrqcr.i.:]l a ] 4 §
point O. 1f this shape is named as ABCD, then AC = 12¢m and BD = 16¢m. j
|
[
a. Find the length of its side. ;
b. Find the perimeter of the flower garden. L~
c. Ifthe garden is to be fenced, find the perimeter of the wire required to fence (1)
the garden for two rounds. ()
OR (1)
Name the angle formed at the intersection of the two diagonals.

38. A survey was conducted to mark the favourite colours of a certain group of 400 people. 4
The data was represented in the form of a pie chart. Study the pie chart and answer the
following questions.

Blue 25% Red35% Green20%  Yellow 14% Other 6%
D |
a. Which colour received maximum number of votes? (1)
b. How many people voted ‘other’ as their favourite colour? (2)
OR
How many people voted ‘green’ as their favourite colour?
¢. How many voted for green and yellow together? (1)

o o ook ok o ek ok o s ok ok ok ok ok ok ok ok ko ok ok s ok ok ok
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Class: VI
Date: 28/09/2024
No. of sides: 8

SINDHI HIGH SCHOO1.,, BENGALURU
Half yearly Examination (2024.25)
Subject-Science

General instructions:

1. This question paper consists of 39 questions,
II. All questions are compulsory. However, an internal choice is provided in some questions.
A student is expected to attempt only one of these questions.
ITL. Section A consists of 20 objective questions carrying 1 mark each.
IV. Section B consists of 6 very short questions carrying 2 marks each.
V. Section C consists of 7 short answer type questions carrying 3 marks each.
V1. Section D consists of 3 long answer type questions carrying 5 marks each.
VII. Section E consists of 3 case-based questions carrying 4 marks each.

Max Marks: 80
Reading Time: 8:00-8:15 am
Writing Time:8:15-11:15 am

Sk.no

Section-A

Marks

I

Valency is the number of electrons of an atom which an atom can
(a) donate (b) accept
(c) donate or accept  (d) none of these

Robin collected some dead organisms in a jar till it was three-fourths filled and
layered it with heavy pieces of stones and lett it for a month. His observation did not
record formation of petroleum and r:atural gas. Why did the experiment fail?

(a) Robin did not add bacteria into the jar.
(b) Over millions of years, absence of air, high temperature and high pressure are

required to transform the organisms into fossil fuels.
(c) it is a slow process.
(d) Both (b) and (c) are correct.

Which of these practices will help in conservation of fossil fuels?
(i) Driving cars at a moderate speed.

(ii) Ensuring correct tyre pressure.

(iii) Ensuring regular maintenance of the vehicle.

(iv) Switching off the engine at traffic lights.

(a) (i) and (ii) (b) (i), (ii), (iii) and (iv)

(c) (iii) and (iv)  (d)None of these

Which of the following is bivalent polyatomic anion?
(a) Chloride (b) Sulphate
(c) Sodium (d) nitrate
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Which of the following is a balanced chemical equation
() 2Hg + Oy HgO () Hg* Cy 21y
2HEO () 2Hg * O g0

(¢)Hg + O

6

Sam went to a Laboratory where he obsetved the refining of petroleum and noted
his ohservations. Which of the following components was not obtained but Rahul
had noted it by mistake?

(b) Coal gas

{a) Kerosene
(d) Gasoline

(¢) ParafTin wax

Nitrogen is an example of -
(a) monoatomic molecule
(¢) triatomic molecule

(b) diatomic molecule
(d) polyatomic molecule

In our country large patches of forest is cleared for the cultivation of crops. Finest
teak of India is obtained from:

(a) Forests of Kaziranga National park
(b) Forests of Satpura

(¢) Sundarbans
(d) Forests of Kanha national park

Which one of the following statements is true about a biosphere reserve?
(a) It is a protected area where only endemic species live.

(b) It is meant only for the conservation of plants and animals.

(c) It is meant to conserve both the biodiversity and the culture of that area.

(d) There is no other protected area within its limits.

10

What is the primary goal of crop production?
a) To produce a variety of crops

b) To ensure crop rotation

c) To increase crop yield

d) To reduce crop waste

11

Read the statements given below.

(i) Seeds require the moisture for germinate.

(ii) Plants can absorb nutrients mostly in dissolved form.

(iii) Irrigation protects the crops both frost and hot air currents.

(iv) Irrigation improves soil texture.
Choose the correct combination of statements which indicate the need to irrigate

crops.
(a)iandii (b) i, i and iii
(¢) i, i, iii and iv (d) iand iii
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(a) Weedicides 1 and 2 were not effective in controlling weeds.
(b) Wheat production was better in fields sprayed with weedicide.
(¢} Crop production decreased in Field 3 as the soil was not fertile.
(d) Wheat production is not affected by the growth of weeds.

13

Raghav kept a mini sound player in each of two similar containers. The picture shows
what Raghav noticed when he turned on the sound player. He then tightly covered
both thie containers with stretched plastic sheets.

A o = g

Pplastic ;sheet MM

oy
Sound player’

* turned off turried on

: o
Which of these questions can be answered using the result of Raghav’s activity:

(a) Does sound travel through vacuum?
(b) Does sound produce vibration?

(c)Does sound travel as waves? . . ,
(d)Does sound travel faster in solids than in gases
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Light is falling on suf fﬂ( es 81 S and 8; as shown in "‘f' figure

\\\ NN

@Shﬁnca S, Suntace Sy

Surface S-q

< on which the angle of incidence is equal to the angle of reflection

Surfaces
(a) Only & (b) Sy and §;

(c) S: and S (d) All the three surfaces

. e —

Alina has cold and viral flu for the past 5 days. Her mother gave her antibiotics, but
<he is not recovering. What can be a likely reason for the same?

a. Antibiotics are used against viral infections.

b. Antibiotics are used against bacterial infections.

¢. Antibiotics take time to cure the infection.

d. Antibiotics are to prevent infections rather than to cure them.

16

1. A trash can contains the following materials:

1. Plastic straw
% 2. Aliminium foil
3. Apple peels
4. Chicken bone
5. Glass bottles
6. Tissue paper

Select the materials that the microorganisms can decompose.
(a) 1, 3 and5 (b)3,4and 6
(¢)1,2and 5 (d)4,5and 6

For question numbers 17 to 20 two statements are given-one labelled Assertion (A)
and the other labelled Reason (R).Select the correct answer to these questions from
the codes (a),(b),(c) and (d) as given below:

a) Both A and R are true, and R is the correct explanation of the assertion.

o) Both A and R are true, but R is not the correct explanation of the assertion.

¢) A istrue, but R is false.
d) A is false, but R is true

17

Assertion: Sunlight is an exhaustible natural resource.
Reason: Sun will continue radiate energy for billions of years.
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19 | Assertion: BufTer stock is the extra
for emergency conditions

— e

wk of food grains which has to he maintainer I

Reason:For storage, extra moisture is removed by drying the

20

Assertions The eye cannot see the object at far distance.
Reagon-25em is the comfortable distance at which eye ¢
——

food graine in the syn

an read
Section-B
———
21 | Write the symbolic representation of the cations and anions present in the following | 2
compounds.
(@) (NHa)> CO, (b) Na;p
OR
Give the atomicity of the following,
a KOH (b) Al,O;
"'——._.__‘I—;
22 | Why are Endemic organisms in greater danger of becoming extinct? 2
OR
,./k’ Somefxmes animals enterohuman habitation killing people and Causing damage to
materials. Why do the animals behave [ike this?
]
23 |1f you are given a dry piece of land for cultivation, what will you do before sowing 2
the seeds?
e —_]
24

nder happen in the s
Om us, Then wh
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der sound?

We hear the thyp,
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27 | Write the molecular formulae of the Tollowing compounds using criss-croas method. | 1
(1 Zinc carbonate
(i) Cuprous oxide
(i) Magnesium phogphate
28 | (a) Expand CNG. Why is it preferred over coal and petroleum, to be used as a fuel? |3
Mention any three points.
(b) Why is the layer containing petroleum and natural gas found above from that of
water without being mixed in it?
OR
(a) Burning of fossil fuels is a major cause of air pollution. Justify the statement.
(b) Can we depend upon petroleum reserves as a source for the future generation?
Why /Why not?
29 | (@) 1) Identify and name the given microorganism.
i1) How is this microorganism different from other microorganisms?
(b)Name any three domestic uses of microorganisms.
30 | (a) What measures must be taken to prevent spoilage and insect attack of harvested
grains?
(b) A farmer sows peas in the field after harvesting a crop of rice. Which agricultural
practice is he following and why?
31 | (a) What is the kind of reflection that is taking place from a glass surface? Draw a
ray diagram to show the kind of reflection.
(b) Eyes of nocturnal birds have large cornea and large pupil. How does this
structure help them?
32 | (a) Distinguish between audible and inaudible sound. 3
(b)Why astronauts fail to hear each other on the surface of the moon?
33 3

(a) ldentify the device shown in the diagram.
(b) What is the working principle?

(c) Explain the construction of the given device




Seetion-D

(a) Draw the ray diagram to show ima jon i

a ge formation in pl i
(b) Name the following. prne
(l).The. effect due to which we see an object for few seconds more even when the
object is removed from the front of eyes.
(i) The most popular resource for visually challenged person to read and write.

OR

(a;How many images will be formed when two mirrors are placed 90 degrees to each
other.
(b) The picture shows a light ray from a candle falling on a mirror. P, Q, R, S and T
are five points behind the mirror.

e of the candle form? Write the nature of image formed.

At which point will the imag
(c) When we look at sunlight through a scale, it seems to break in seven colours. Why

does this happen? What is the phenomenon is called?

34 (f\)\\’i'ilr the balanced (*hrm-i( :;l r-qu.;;irw- ‘: :!'-f‘ .“ ThanA - 2
(T?Mf\pnccinm burns in ait and [m--r!mrc;v\’.»1,;;;;-;-;\:”“.“ ‘ »* e N
(117 inc metal reacts with Hydrochlotie aeid n ”':": ;fj: ‘
- wodviee 7ime ehlavide and Flydeagen
(MDifTerentinte between element and compomd with sn example §
o8 Ty ple in dach cnae
(‘mllnlnnvt‘ the following chermical equetions:
(N HENOHCa(OM); - CalNO1 )Y 4 H;O
(M NaOH 180 -2Nap SO+ 150
(i) BaCly+H;804—BaS04 HCI
(B)Differentiate between anion and cation with an example
s . -
3

cts biodiversity. Justify the statement.
animals is a threat to mankind.
ger population is protected. Why do

Tiger Reserve?

(a) Limiting the use of paper also prote
(b) A threat to any species of plants of
(c) A Tiger Reserve is a forest ared where the ti
[ndian government declare parts of many forests as

(d)List the endemic fauna of Pachmarhi Biosphere Reserve.
OR

rainfall, Justify

(a) Deforestation jeads to reduced




(b) Give: reasons

(i) Protected forests are also not completel
(ii) We should conserve biodiversity

(ii1) Soil erosion leads to desettification.

y eafe for wild animalg

————

Section F

matter over millions of years due

Coal is a fossil fuel formed from dead plant

to heat and pressure.
HOW COAL WAS FORMED

v g o

Tere U @) w88 R
g enee e P e ]

(1) Write two important uses of coke.
(i) What is meant by carbonisation?

Justify with two reasons.

——

(ili)Fossil fuels should be used wisely.

| from several diseases. Vaccines con

a large scale to protec't human and other animals

tain antigens that stimulate the immune system to
r to that produced by the natural
cessary vaccines are

smallpox has finally

These days’ vaccines are made on

produce an immune response that is often simila
infection. It is essential to protect children against diseases. Ne

available in the nearby hospitals. A worldwide campaign against
led to its eradication from most parts of the world.

(a) How does a vaccine protect us?
(b) Who discovered the vaccine against smallpox disease?
(c) What is the main motto of ‘Pulse Polio Program’?

(d) Comment On the formation of antibodies in our body?

39

oduced by a vibrating body. The to and fro or back and
lled vibration. Some instruments produce sound due to
me due to the vibration of strings, and some others
air column. Look at the sound waves drawn
was produced by a different sound. Use the

Sound is a form of energy pr
forth motion of an object is ca

the vibration of membranes, SO
produce sound due to the vibration of an

in the figures A, B C and-D. Each one
diagrams to answer the questions below.

A = F‘E
g__ -

b

S

gures B&D. Which of the
1d be the sound pro

two will have 2 louder sound? Give reason.

e fi
(a) Compare 11 dJuced by the buzzing of a bee?

(b) Which of these figures cou

Justify.
(c) Howis the loudness rel

ated to the amplitude of sound and in what units it is

measured?
Gl V.
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No. of sides:(§ Writing Time: 8.15am to 11.15am

General Instructions: -

.. Question paper comprises six sections- A, B, C, D, E and F. There are 38 questions in
the question paper. All questions are compulsory.
ii. Section A-From question nos.! to 20 are MCQs of 1 mark each.
iii. Section B- Question nos. 21 to 25 are very short answer type questions carrying 2
marks each,
iv. Section C-contains question nos. 26 to 31 are short answer type questions carrying 3
marks each.
v. Section D-Question nos. 32 to 34 are long answer type questions carrying 5 marks
each.
vi. Section E-Question nos. 35 to 37 are case based questions of 4 marks each.
vii. Section F-Question nos.38 is map-based question carrying 5 marks with two parts,
38 a from History (2marks) and 38 b (3 marks) from Geography.
viii. There is no overall choice in the question paper. However, an internal choice has
been provided in few questions. Only one of the choices in such questions have to
be attempted.

Section -A 1x20=20

1. | The British conquest of Bengal began with the Battle of 1
a. Buxar b. Plassey
c. Seringapatam d. Panipat

2. | The place where the old documents are preserved are called . 1
a. Archives b. Museum c. Library d. Surve

3. | Identify the emperor arrested by Captain o 1
Hodson. S b

a. Bahadur Shah Zafar

b. Akbar

¢. Shah Jahan ! i

d. Jahangir

4. | Which of the following pair is rightly matched? 1
a. James Mill — Wrote “A History of British India”.

b. Lord William Bentick- The first Governor- General of India
¢.” Calligrapher”- Who is specialized in the art music

d. Lucknow- The revolt of indigo plantation began




Tick the correct option for the correctly matched pair.

5.
— 1 cowwi [ | Colmni
A |Khonds 1§ | Color clothes and leather
B | Vaishav preachers |4i | Shepherds
C_|GaddisofKuln iii | Vishnu
‘D | Kusum and Palash flowers | iv Iharkhand -
Options:- _ ' 7
T A B [Cc D]
a | i | i i | v
b. iV it ii i
£, ii iv i iii
d. i iii iv ii
6. | Sleeper means .
a. A wooden plank used to make Carts.
b. The horizontal planks of wood, on which railway lines are laid.
¢. A wooden plank used to make chariot.
d. A wooden plank used to sleep.
7. | The resources which can be used directly without any modification are called?
a. Non renewable resources b. Natural Resources
c. Sustainable resources d. Both b and ¢
8. | Identify the Method of Soil Conservation R T
a. Terrace Farming
b. Contour Ploughing ;
¢. Mulching L P
d. Shelter Belts : S
9. | A dripping tap wastes litres of water in a yeatr.
a. 1200 b. 1300 ¢.1100 d.1400
10. | How can we conserve resources?
a. Allow illegal mining b. Deforestation
c. Give resources time to get renewed d. Hunting and poaching
11. and are the major threats to the environment because of
agriculture and construction activities.
i. Land degradation  ii. Availability of water iii. Soil erosion iv. Forestry
a.iand ii b. i and iil ¢. ii and iv d. iii and iv
12. | Landslides often take this in conjunction with
a. Earthquake b. Afforestation c. Agriculture d. None of the above
13. | Technology is an example of
a. Natural resource b. Human made resource
¢. Human resource d. Renewable resource
14. | Two statements are given below, a statement of Assertion (A) followed by a

statement of Reason (R). Read the statements carefully and choose the correct
option:

Statement A (Assertion): Indian constitution ensures the balance of power

2




ljtl\\‘m*n the three organg of govermment

Mml"l'lll_‘l‘ll R (Reason): Conetitution provides different powere to different aroana

and each organ act as a check on the other organ )

8. Both assertion (A) and reason (RY are e and reason (R) it corrset
explanation of assettion (A)

b. Both assertion (A) and reason (RY are teve bt toagen (R) i4 ant the erernet
explanation of assertion (A)

¢ Asgertion (A) s true bt rengon (R) ie falee

-

d. Assertion (A) is false but reason (R) i< teue

i 15, | The highest law- making body of out country consiating of the [ ok Sabha and L
a Rajva Sabha is known as: -
|| o High court _b. Supreme court c. Patliament d. District Conrt. |
'l 16. | Which of the following statements with respect to the it;l(iiciar} in India i9/are . ]
| correct?
! i. The supreme Court of India was established on 26 January 1947, the day
: India became an independent nation.
ii. There are three different levels of court in our country.
iti. The Supreme Court in the early 1980’s devised a mechanism of Public
Interest Litigation. :
a.ionly b. i and ii only c. i and iii only d.iiand iiionly |
17. | Which of the following defines the set of rules to govern the country? L
a. Preamble b. Sovereignty c. Constitution d. None of these [
18. | Which of the following statements is true about secularism? [
a. It promotes religious fundamentalism b. It encourages religious conflicts
c. It respects all religions and beliefs d. It supports religious intolerance |
19. | Which branch of government is responsible for making laws in a parliamentary | |
system? -'
a. Executive branch b. Legislative branch
c. Judicial branch d. Administrative branch
20. | What is the significance of secularism in a diverse society? 1
a. Creating religious divisions b. Fostering social harmony and tolerance
c. Restricting religious practices d. Promoting religious supremacy
Section-B 2x5=10
21. | Surveys became important during British rule. Explain. 2
22. 2
Identify the personality and why was he Impeached? .
23. | Each person can contribute in the conservation of resources. Mention any two 2
ways. 5
24. [ Explain 'Parliamentary form of government'? -
25. | What are the major functions of the parliament? 2
Section-C 3x6=18

3



26,

|

0. | Under whom was the policy of Paramountey initiated and what waq the objective

|
“JF}EWHL_

].ﬁ\-_lhr end of the 181th century, the demand for Indian indigo grew further
Analyee the reasong behind it

[ behind it?

l “I s our duty 1o ensure the future of our planet and its people is linked with the |

ability 1o maintain and preserve the life support system that nature provides'* . |

i. Identify the mitigation mechanism given in the picture.
il. List two features of CITES.

30

Write a short note on Rajya Sabha.

3

3.

Explain the role of Judiciary.

3

Section-D

5x3=15

32,

By the nineteenth century, tribal people in different parts of India were involved
in a variety of activities to earn their livelihood. Describe how did they earn their
livelihood as jhum cultivators and hunters and gatherers?
OR
Explain the lives of tribal chiefs before the arrival of the British and under the
British rule,

5
(3+2=5)

33.

What is s0il? Mention and explain the factors affecting soil formation.
OR
It is very important to conserve water. Explain five methods of conserving water.

A

34.

Why do you think the introduction of Public Interest Litigation (PIL) in the 1980s
is a significant step in ensuring access to justice for all? .
OR
a) Explain the judiciary system existing in India.
b) Mention two differences between Criminal law and Civil law.

(3+2=5)

Section-E

4x3=12

35

Read the passage and answer the following questions:

The Company on its part declared that the unjust demands of the local officials
were ruining the trade of the Company, and trade could flourish only if the duties
were removed. It was also convinced that to expand trade it has to enlarge its
settlements, buy up villages, and rebuild its forts.

35.1) What is farman?
35.2) Who led the Company’s army against Sirajuddaulah at Plassey?
35.3) What were the causes of conflict between Sirajuddaulah and the British?

D —




. | Read the passage and answer the following qrestions

! . _ r
V n]llt‘ memns worth, Some resonrces have ecomemie valive, some do ant For

example, metals may have an economic value, a Bemntiful landacape may ant it |
both are important and satisfy human needs | '*
Some  resources  can become  economically  valuable  with  fime  Your
grandmother's home remedies have no commercial value today. But if they are |
patented and sold by a medical firm tomorrow, they could become econamically
valuable. |

36.1) What is Patent? |
36.2) Name two factors that can change substance into resource. |

)
I
36.3) Difference between renewable and non-renewable resources. _L; w3

31,

Read the passage and answer the following questions:

History provides us with many examples of discrimination, exclusion and
persecution on the grounds of religion. You may have read about how Jews were
persecuted in Hitler’s Germany and how several millions were killed. Now, f
however, the Jewish State of Israel treats its own Muslim and Christian minorities
quite badly. In Saudi Arabia, non- Muslims are not allowed to build a temple,
church etc., and nor can they gather in a public place for prayers.

37.1) What does the term ‘Secularism’ refer to?

37.2) What is the significant difference between Indian secularism and
understanding of secularism in the United States?

37.3) Why is it important to separate religion from the State?

38.

SECTION-F

2+3=5

1. Identify the following on the given Political map of India-
a. Presidencies of British — A and B.

II. Locate the following on the given Political map of India
a. Ranganthitu Bird Sanctuary
b. Sariska Wildlife Sanctuary

c. Corbett National Park
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1. Choose the correct option. (5X1=5)
1. Which Port is primarily used for high -quality audio and video transmission?
a) USB Port b) HDMI Port ¢) Ethernet Port d) Audio Jack

What is the main purpose of comments in Python?

(]

a) To print statement b) To perform calculation

~  ¢) To provide notes or explanations within the code d) To store values
3. Which of the following in python is a Logical operator?
a) and b) % c)! d) ++
4. Which of the following is not a Relational operator?
a) > b) < c)+ d)=

5. What is the primary purpose of loops in programming?

a) To create errors b) To execute a block of code multiple times

¢) To make code longer d) To make the code harder to understand -

II. Fill in the blank.

1. All computers are connected to a central hub ina topology.
is a series of character created by enclosing text with quotation marks.

(5X1=5)

2
(3. operators are used to make decision based on multiple checks.
4. loop is the result , if you do not meet the exit conditions of a loop and the program will not
terminate .
5 is a block of code comprising a set of steps that results in a specific actions and they a useful

in programs to reduce code redundancy.

III. Say True or False. (6X ¥2=3)

PAN network is the smallest and most basic type used to connect device within an individual’s range.
The input() function in python is used to display output to the user.
Coding is giving instruction to a computer in a language it understand.

A While loop continues executing as long as a specified condition is true.

LB W

Single equals to (=) is an assignment operator.
1




1V.Write the output of the I'oilnwing python code snippet? (1X2=2)
x=10
if x>5:
print (“ x is greater than 57)
clse :
print (“x is S or less™)
V. Answer in one word, (4X1=%)
1. Which device in a network decides the most efficient path for data packets to travel?
2. Which function in python allows us 10 write or show output on the terminal?
3. Which block 15 used to make a sprite 1o talk in PictoBlox?
4. Name the application software used to graphic design a project like poster, video making and 0 on”
S. Which function in python makes the sprite ask the question to the user?

V1. Answer the following (5X2=10)

1. What are the two main types of Computer software and give example for each?

. What is the significance of indentation in python?

2
3. What are the different types of relational operators?
4. What are the different types of loops?

5

. Write the full form of?
a) LAN b) WAN

Rkkdhhd ke ddk




